
Ouestion PaDer assessment of suitable for appo intment in Under Graduate (l.T.l levell oost
on comoass ate srou nd.

Please Read below mentioned instruction carefully .

Total Marks:- 100 Oatej.O/Ot/2OZ4

Totalsection :lv(Four) Time:go Minutes

Section A: General Awareness :20 Marks(Total 20 questions of 1 mark each)

Section B: General intelligence and reasoning :25 Marks (Total 25 questions of l mark each)

Section C:Arithmatic:25 Marks(Total 5 Questions)

Section D : Descriptive :30 Marks
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Section A

General Awareness [20x11

l.Hitler party which came into power in 1933 is known as

A-Ku-l(lux-Klan

B.Democratic Party

C.Labour Party

D.Nazi Party

r Fed{qrdd rgssfrsarfr ,rn€,6-6drfit

(.8--m*wn

d.3frbtroqd

c.tflqrd

o.qTffrfld



2.Ozone layer restricts

A.Ultraviolet radiation

B.lnfrared radiation

C.visible light

D.x-rays and Bamma rays

z.eMqq-raqfuif$d6Tfft

rwrffiEfr-tq

a.3rfiffiftfu-{ur

fr.e{qq?rTsT

d.\'ffi-t 3i{rncTfu-tfr

3.Filaria is caused by

A.Protozoa

B.Mosquito

C,Virus

O.Bacteria

g.sr{dft q.r fr rqb orqq frar tr
r.fr&frer

d.rsr
c.aEr{S

o.ffiftql

4.Durand cup is associated with the game of

A.Volleyball

B.Football

c.cricket

D.Hockey



4.Eis 6 q fu -€ t+f, * sqilfa tr
adffio
d.g,_idd

fr.tub-c

D.Er+1

S.Headquarter of UNO are situated at

A.Paris

B.Geneva

C.Haque

D.New York

s.uruoorgwrooRraI

a.tfus

fr.ft+{r

fr.6s.

D.{qr&

6.Dr.Zakir Hussain was

A.First vice president ot lndla

B.First speaker of Lok Sabha

C.First musllm President of lndia

D.First president of lndian [tlational Congress

e.snurfu-tgS+t

Aqro&uqqsr{rpqfr

s.frf,sql&'qqca{sqa

c. qrdbqqcqfuctryqfr

o. urdu n$a oinv *- w{q 3{qqt



7. Which Union Ministry launched the real-time monitoring system ol toll plazas at national highways
across the country?

lAl Mlnlstry of HousinS and Urban Affairs
IBl Ministry of Finance

[Cl Ministry of Road Transport and Highways

[Dl None of the above

z fr-s ilrfiq riroq i ?sr q{ d {r$q {qcptrqr d-o qmr 61 sr€fum' eqq frryr{ qunfr {F ole
rql 3{rdrs 3it{ sr{s qrtrd 6r qTrirq

ffifff,qrrdq
tO v.s+.qk{d-{ ortirTqqrf qardq

rstsqn-fffrt6t{Tfr

8. Which body has submitted its recommendations to the Government of lndia for privatization of 12

public sector undertakints?

IAI Planning Commission

lgl NlTl Aayog

ICI DPrr
[Dl Reserve Bank of lndia

r. 6;s ft6+ i r z €rdqn-6 A-d b sq-Fm a ffio-rur & fr q qra vron o1 eirrfi Rffi rnd e.ffi
tr
felqtfire{rdFl
fdf fifretrftr
r$dtfrqT{rn{d
f$tqrfrqnrq-d+o

9. Which state / UT has recently formed an Oxygen audit committee?

[Al Kerala

IBl Maharashtra

lcl Goa

lDl Delhi

e. 6rd A t fu-s {rq&E snkd qtsr i offiq{ erBe efrfr 6I 116{ frqr tr
g1&ro

dtc-6RIq

tfiri-dl

rsltrd



10. Which body approves the appointment of Finance Secretary of lndia?

[Al Cabinet Committee on Economic Affairs

IB] Appointments committee of the Cabinet
[Cl Banks Board Bureau

[Dl Reserve Bank of lndia

10. rfl{d }' ft-a sfud 61 ftgfr 61 Eh S {ien m tfi e,
Rtr{rFfoqrffi}dbfufuqh'fr
ffiibRiz+lffiqfrft
r$ ilo+gqn
tdl qrrdqM+6

11. Recently, which ministry has released the Glacial [ake Atlas of Ganga Basin?

[Al Ministry of Mines

IB] Ministry of Earth Sciences

ICl Ministry of Jal Shakti

ID] Ministry of Science & Technology

rr.erodfr fu -qqTefl rt{rntfurorr&Rrqod-orreesqrSfu 'qr?r

rqlEr{q7rdq
rfiqPdfufiriTdq
r$qoqrR{'*eq
r$ A-flaq?Tdq

12. Which city's Suburban Rail Project, named lndia's most intetrated rail proiect, is set to

commence?

IAI Mumbal
[BI Eengaluru

[C] Chennai

lDl New Delhi

rz.fu -ssrfl 61srfl rfu l-dqffis-{r,fr r$qndols{S\r+l-f. -dl-oqffiqtro-oqratgsdA
ad?r
NrTi€
drtrrg-{
r$nr$
rOritrd

13. What is the main task of the 'Delimitation Commission'?



[Al Undertaking Census

IB] Redrawing Electoral Boundaries

[C] Redrawing State Boundaries

ID] River lnter-linking Proiect

13'qffiqa 3ffi' 6r Es s-r{flre?
Nl q;rroFlr ir-{il
ffi g+lfrScr3fr6rg{HEtrnT
ml {rw 61 ScrGfr 6r g#uf{uT
rdrTfiffiqft*srT

14. Which state recently notified Mahila Police (Subordinate Service) Rules?

[Al Tamil Nadu
[Bl Andhra Pradesh
[Cl Kerala
[Dl t ttar Pradesh

ra. era d i ft-s {w i qtror gfus r3{tft{*, +{D frqc atfY{f{d fuq?
fq afre-{S
tq 3{iE qecr

Ffrr e-.d
rfirmqecr

15. Which social networking platform is set to rename itself as "Meta"?

IAI Orkut
lBl Snapchat

[Ct Facebook

IDI Twitter

rs.+t{vdsrf, t-dfr hrrdzqif sffttrrcil{m6-r"+dr'6-riqrwe?
re1.itrfrc
,61ffi
rslfrvS6
ffiR-c{

16.chairman and CEO of Railway board

A.V K Tripathi
B.Suneet Sharma
C.Ashwinl Lohani
D.Jaya Verma

re.Hs}gt r{tq&rsdfr{3fr

q.fi.t.ffi
d
c.

srcf
ffiv.ftd

3rfH
6.qqrdcf



17. What is the name of the national platform used for vaccine delivery system in the country?

[Al Covid Raksha

lBl CowlN
[ct CovisHlEtD

Iol CoDeliver

I 7. t{r C }ffi{ frfr{ur qund } ft q sqfrq fu s qri ErA rt8q riq ml wr<rc tr
g1o1fusran
rfi61hq
ffiolsi-€
t.sls-dfuflq

18.Which lndian state hosts the famous 'Khaiuraho Dance Festival'?

lAl odisha
[Bl West B€ngal

[c] Madhya Pradesh

lDl chhattisSarh

re.+tr w r+rfrq {rw qfug'rq-grr& fc r+ff{' 61 i}u-crfi 6{dr tr
Rr3iB{n
ffiqf$qdrnd
r$r qqsaqr
rOsd-gtra

19. The Mahendratiri hill ecosystem is situated in which state?

[Al Maharashtra

lBl odisha
lcl Madhya Pradesh

IDl Assam

re. qt{Flft q6TS qftRrffi tia fu-s rrw fr Rra tr
NICERTg
rffroiBsr
t$tqtqqelt
rdt q-sc

20. The Parliament of lndia is consisted of 

-:
lAl tok sabha & Rajya Sabha

[Bl tok sabha & Raiya sabha & President

[C] tok Sabha, Raiya Sabha, President & Prime Minister

IDl tok sabha, Raiya Sabha & Council of Ministers



20 Hr{d e1{rE _ t frf,fi-r ilfi t,
rq tro-srirettr{rqsw
tdtetasqr,ttqsHrrfuWqft
rs] d-+-s'Hr, {rqqrn, nUqfr olr'r qgn rifi
tst et+.qqr, {rqqq1 3fli qffis-d

Section -B
lntellisence & Reasonins[25x11

1. Melt : Liquid :; Freeze:
A. lce
B. Solid
c. condense
D. Push

1. frEITiI:ililel:: uIrI;lI :

s.d6
fr.6ts
S.€qft-d
d.trmr

2.6,tt,2t,36,56,--?
4.91
8.51
c.81
D.42

2.6,tt,2L,36,56,--?
g.e1

dsr
S.er
d.az

3.10,100,200,310,-?
A.430
B.420
c.410
D.400

3.10,100,200,310,-?

9.430
d.azo
fr.aro
d.roo

4.Arrange the words given below in a meaningful sequence'

l.Police



2.Punishment
3.Crime
4.Judte
5.Judgement

a.fri frs.rs srd o1 qni6 m'q fr qdRra of r

r.gfus
2. qyll
3.3{trtlU
a.qgtfiq
s.ffq

5.FlRE:DGPC::SHOT:-?
A. qIMR
B.ONR
C.Q,MR
D.QKtO

6.The total age of Amar,Akbar and Anthony is 80 Years.what was the total age of their aBes three
years ago?

A.71Years
8.72 years

c.73 Years
D.74 years

o. erEt, eroq{ 3fu ehfr +1 sd 3f rc eo E{ t r dtr s{ T6a s-{+1 gft 3ng 4r fr ?
a.zr q{
fr.zzE{
S.zssd
o.za E{

7. Find the missing character?

A D G

D I N

I P 7



A.V

B.X

c.w

D.Y

8.Find the missing character.

A.14B
B.t2C
c.16C
D.10C

9.Book:Cover: :Painting:-?

A.Example
B.Wall
C.Colour
D.Frame

9.g€iF:Ffl::tftrl:-?

A.g{r6wl
fr.+dR
fr.,ir
dfrc

7B 5C 6B

3C 9B 19A

154 174 7



A.5rild
dq-Ed<
c.ondt{
d.oflgt{
{.stqa(

lO.Float:SINK::BOAT:-?
A.Ship
B.War

c.submarine
D.Missile

ro.de:ftio.:frE:--l
(rf s6rg
dge
c.q-+gd
o.ftqso

1l.choose theword which is different from the rest?

A.Rigveda
B.Yajurveda
C.Atharvaveda
D.Ayurveda
E.Samveda

r r.a-e qr< gi d erfrdr I eroq ?r

12. choose theword which is different from the rest?

A-curd
B.Butter
c.oil
D.Cheese

E.Cream

12. {6 {t5( Ei d erBtql t ftH tt
n.afr
dq-ftH
S.a-d
d.qfrr
{.Ftq

13.A and B ate brotheE.C and D are sisters.A's son is D's brother'How is B related to C?

A.Father
B.Brother
C.Uncle



D.Grandfather

13.A 3lR B rn{ t r c ;lrr o coi B r n or &a o or qr€ B r e, c t A* €Eifud tr
A.tIM
frttr$
Soio.-d
d.srl
14.Pointing at a photo,Dinesh said,"His father is only son of my mother."The photo belongs to-
A.Dinesh
B.Oinesh's brother
c.Dinesh's father
D.Dinesh's son

ra.fr tqrigoqHoleic{rrRr6-{ags6-6r,"ssbft -drffi qibEs-dlaaeir"uHfu-s-or?-
s.frtsl
dfriqorrrr{
€.fri{rbfudr
o.frfuotta

15. ln a lake, there are 10 steps labelled using alphabets from A to J. Starting from step A, every
minute a frog jumps to the 4th step from where it started - that is from the step A it would go to the
step E and from E it would go to the step I and from I it would to to C etc. Where would the frog be at

the 60th minute if it starts at the step A ?

A.B
B.A

c.H
D.D

E.E

dc
frc-q
d.d
11!.t

15.120,99,80,63,48--?
A.35

rs. qr+ fif, fr , a t r a-o e{ctd 6'1 3qfrrr 6-{a Eq r o Sfr rfi t r asq a Q g5 5q}, EI fr rg qr i'f,r
drtqtuTq{o-d-dt twti'tc-si {Fgfld61rfi- qT{T{q r ta-6qtq r q{qrgT rl 3fu E tq6=Rq I

qr qn'm sir'i t qo c enR qt qr{rn r qR rro qtur a fr E*- *a B d o od A-+e C i'ro o-oi d'nr

cd



8.38
c.39
D.40

17. What will be the total weight of 10 poles, each of the same weight ?

Statements:
l. One-fourth of the weight of each pole is 5 kt.
ll. The total weight of three poles is 20 kilograms more than the total weight of two poles.

18.1n each of the following questions, choose the correct code form

a. TCSL

b. TBSL

c. TASL

d. TLSL

18.fi qfrRd q-&o. u*r fr, vS ats tnTC gt t

\'6Blsdotsfr ,rr*-l6co}tDARKolLsrzfr*ttr*315e+tsCnrnot*fuqtst
qo-artr

q l*Sqs(rf,
dtffrqs(rd
firdqqsqd

A. I alone is sufficient while ll alone is not sufficient.
B. ll alone is sufficient while I alone is not sufficient.
C. Either lor ll is sufficient
D. Neither I nor ll is sufficient
E. Both lor ll are sufficient

rz. r&o sql{ {s{ sra ro EFfr 6't gxT aq-< fr-a-+ drna
stFI:
r. r&o €r] or aqq (rfi-qtfl€ s frdlm t r

r r. fi{ rilil 6l grd a-w+ d dril b gd eq{ t zo fu-frqFl erf D-o B t

n r r{bdr qqfq B qsfu rr 3{b-6Tqqfq {fr t r

B. I o{&-fl qqfq t q-ofu r erb-or qqfq r&t t

c.qldrqrrrqqfwB
o.cdr3lFcdrr qqfqB
r.***;1+uof<B

ln a certain code, MEN is written as ABC and DARK is written as LSTZ. How can READ be written

in this code?



drfrq-dq-qq-d

19. Choose the number which is different from others.

a.7 :343
b.9:243
c.8:512
d.6:216

1e.il6€@Tg;Idqstltnt7dt

A. I 7 :343

dtg, z+:
Sl a,srz
Sl s, zro

20. ln each of the following questions, one term in the number series is wrong. Find the wrong

term.

1, 5, 11, 19, 29,41,56

21. Read the following information carefully and answer the questions below'

1. M S N means M is the mother of N

2. M # N means M is the father of N

3. M @ N means M is the husband of N

4. M % N means M is the daughter of N

P @ aS M #Tindicateswhat relationship of PwithT?

a. Paternal grandmother
b. Paternal grandfather
c. Maternal grandfather

d. Maternal grandmother

a.54
b. ss
c.55
d. s7



22. 72L, 743,165, 187, ?

zr. ffifua qn-orfr +1 uxn$o. qd Gi{ fii frq.rs qfr & strr t r

1. M $ Norq{tfu r',,t, r'roldB
2. M # N or eflf tfu u, r.r orfuarB
3. M @ r'r Orercf tfu Na, N olcfr t
+. v z w ot.rrf tfu rr,r, r'r o1d-Et
p @ aS rvr rr{Frao-r-m?fr porrtmr€aiEtr

nrarfr
frri-iloarr$
$gqEETr;n
draffi

23. Choose the word which is least like the other words in the group

A. Volcano
B. Tsunami
C. Earthquake
D. Explosion

z:. at sI< gA d e{a b erq rd t sqS oq tr-o-at go-ar d
(r{ErdrTd
ilC-+tm
fi.r[Fq
dt.f{tstc

24. Marathon is to race as hibernation is to -

A.winter
B.summer
c.sleep
D.bear

z+. furrn Ete o1 vS u-rn t fi$ Pffifir 61 -

s.sd
d.frq

a.

b.

c.

d.

209
233
309

345



s.ft
d.urq

25. On Children's Day, sweets were to be equally distributed among 175 children in a school. Actually
on the Children's Day, 35 children were absent and therefore each child got 4 sweets extra. Iotal how
many sweets were available for distributlon ?

A.2troo

8.2480

c.2680
D.2800

2s Erf,fr{{Tq{
fu+sq{ssE-a

c-sq-f,

9-ofrr-fr

q.2400

qt.2480

S.zseo

d.zsoo

gtrfld{?fr?

Section -C
Arithmatic [5x5]

1.A and B invest in a business in the ratio 3 : 2. lf 5% of the total profit goes to charity and A's share is Rs.

855,What is the the total Profit ?

r.g Glnd(16q{srqfr r,z & eqqnCfttsro-ttf,ruEg;oeruor s% qrafrqrdrt 3{t{qo-l

Fwt u t ass,g, o on+ fu-r+ ?r

2.ln an election between two candidates, one got 55% ofthe totalvalid votes, 20% ofthe votes were

invalid. lf the total number of votes was 7500, then what is the number of valid votes that the other

candidate got?

z.d gffi b fi{ cdt Tfl E fr , \r+, 41 9e tu ff C t s s z fre Frd, zox de vtu 0 r uE g;a rd
o1 tist zsoo ff, d (R t*a* * qrq tE {d 61 €sr flr tr

i r z s qd &' fis q-qn is-q t fr -dEd dfl qrfr fi t 6{ofi I cT El cI

E ofu Eqfdq q-e+' cd o1 a ft -orEqf ffi trm Frd t Ea-{uT e ft c



3.A bag contains 50 P, 25 P and 10 P coins in the ratio 5: 9: 4, amounting to Rs. 206. Find the number of

coins of each type respectively.

:.gotrrils.g.+&eqq-6fr56p,zsport*ropftr*'t,frFr+lttRrt zoo.q-&s-rrs-Ra-frrffiJ
frpq{: tiiofl{rd61frqt

4.A man sitting in a train which is traveling at 50 kmph observes that a goods train, traveling in opposite

direction, takes 9 seconds to pass him. lf the goods train is 280 m long, find its speed.?

4 so fr rfr qfr qU 6t lmri t +o € l+ q i-or ('o v64 2*. t fu ffid fr slr C qnr d{ rfi \rf,
qmlrs sS ltr 6-{A fr g &ir tfi B r qE crdrB z ao 4-.{ dfr e, A s€-*1'.Tfr ' ga olf'fl r

5.39 persons can repair a road in 12 days, working 5 hours a day. ln how many days will 30 persons,

working 6 hours a day, complete the work?

s. ss qfr qfr E{ s tit ord erb \rf, sso at qrnra r z fu il fr or e-o'fr t t : o qfr qfrE{ s UZ

6Td s-q}' frrdi trif fr ard qrt ottu

Section - D

Descriptive [6x5]

Describe all of the six below:

l.Women Empowerment

r.cEf,rwrfud-{q

2.National Education PolicY

z.r$ufuanffi

3.Amrit Bharat Station Scheme

g srTdqrad€sH+srT

4.Skill Development Programme

+.e'rqroltrorgol-foc

5.lndian Railway contribution in boosting lndian Tourism

s.qrfiq q'{rc 61 a-a-qr ei fr uT{frq H or *'rdT{



6.Write an application to Block development officer for creating a pond in your village.

6.Grq+ rid fr drdn E-{dri } frc tB fumTs qM 61 eni-cc q-, ftrd t


